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corr_us_avg_bpm1X (ppb) 1D pull distribution
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1D pull distribution

pm4eX (ppb)

corr_usr_b

|

%

@ ~ ) ) ® o o ©
g & = 2 & 8
5 B e © & &
IS} =3 o N =3 =]
+ S @ N e + —
= + ] ] P
2 i ® 2 -
2 e © ] .
g & 5 2
=] S S © .
=] =] -1
> m 3 € -1
] k= =} k=1 8 © —
s a 5] = < 1] s £
3 - 2 2 > 5 3 5 ]
= 2} =} o > (8] = 2] -1
1 1 ol by e by 1 M BT BT B
© © < N o < N o
— ~ — — —
I &
\ 4
~ N~ ®
< A ®
L o
N~ -
~ AN N
2+_ A
Y —
(92]
- ™
™
N L
< P
@
I —_—
®
\ 4
Y= |
S °
c °
L4
~
—_——
NP =}
< L
P
@
—_——
®
\ 4
Py
@
Py
\ 4
Py
\ 4
Py
\ 4
Py
@
P
@
Py
\ 4
P
L4
-
o
Py
\ 4
Py
@
Py
\ g
o
Py
\ 4
Py
@
®
\ g
Py
\ 4
Py
\ 4
— e
®
\ 4
Py
L4
Py
\ 4
°
\ 4

4000

2000—
2000

4000 —




RMS (ppm)

160

140

120

100

80

corr_usr_bpm4eX RMS (ppm)

I T Y Y Y
06 g S g A L A 3 g A o s R g 8 g 550




5§ ° ° 1 3§ i
g 5 2 » g8 8
=] =] n o~ o o ©
S S < o + + .
+ + = i o ]
© ~ 3 =
~ o - o -
- 3 3 d.
g o ? ]
o -
- - .
clsg 5§ &8 3 2 & § E g
sl & 5 & =« 8§ 2 & -
8 .
5 = ~
B : _ ]
5 — : _ 3°
=]
a N
o =
- .
7
—¢
PR AUV IR B BRI SR I S R N
[ee) © < N o [ce) © < N o
- - - - -
I
N~ 00
-3
(e}
o +
o N
AN D
o
™
|
—
©
e
~
<2
|
o)
o
o
N—r
>
(<))
£
o
0
r_
n
S
r_
S
o
o

1000 [—




RMS (ppm)

50

45

40

35

30

25

20

15

10

corr_usr_bpm4eY RMS (ppm)

T Y Y Y
206 g S G A L A 3 g A o s R g 8 g s



1D pull distribution

pm4aX (ppb)

corr_usr_b

[=23 © o o had — [v] N\
S 5 s ¢ 2 g
s g g & & 3 ©
IS] [S) ~ oS =] H -
+ + S 2 + I ]
< © o @ ~
I g g o N
83 g 3
8 S 3 e i
=3 o =1
(=} -
: 2 3 s & ]
= a 54 T E 3 S g b
§ = 2 ¢ = 5 § 5§ ]
= n =] o > o = 7] -1
— N
[ I
“—\|— — o
g —
b Y
S S S S B U SN S
n o n o [Te) o
N N - —
I 8- —
*
9 p—
N~ AN bt
< ™~ -
— o . —
N ™ ® 7
[e0] ® =
| _
< ~
— * ]
<t @ —
o IL -
— o
Y— °- —
S o _
c - _
.
~
— e —
~n O
< Q] ® -]
' p—
@- p—
.
° _
.
° _
°
° _
.
@- p—
.
@ p—
.
! p—
— et —
rY p—
.
° _
°
° _
°
° _
.
° _
°
- p—
° _
.
@ p—
.
° _
TS
° _
.
— 1 o —
o _
° _
.
° _
.
@ p—
.
. Y S — —
° ..
.
T AT T e e O e TRTTI MM TN A i

o o

S O NONT O
P

85575500

o o o o
[=} o o o
< (3] N -

-100
-200
-400



RMS (ppm)

16

14

12

10

corr_usr_bpm4aX RMS (ppm)

W2 S e el

L1 ||
5058 1‘303503’3’4’?Wﬂ%%%%ﬂ%%%ﬁ%%%%%%”ﬂﬂ%’ﬂﬂfﬁ‘%?505’5"55%9?5050s



~ 3 ) ) w0 ~ T <
g f s 8 g @
s 5 ¢ 3 o
+ oS 3 o o T |
© + M +H Py n
g 3 g ° -
S ? 3
H = -
3 m m <] m © —
c g S 3§ ] S 2 g E i
o s B 5 S %« 8 2 & E
E=
3
3 i
= f ]
2 T -
© . -1
= .
o
o ]
- -
e by by by by by by by by 7
© < N o [oe) © < N o
~ — — ~
[ —_—
~ o —
< N ——1—
~o
—_——]
N~ ©
™M 4 —
: —et——
9™
N
0 —
N —_—
™ —
—
Y—
© —
c
~
*<2
—~
o]
W ——
~ —
> —1
© ————
< —leo—
1S — e ——
Q. —_——
o — o
r_ —_——
% P
——
r_ —
—
(@] —_——
o — o ——
—_——
——
——
—_——————
— ———
—_——
——
—
——
—
—
—_——
________________.._I_I.I.I_._I_I.I.I_.
o o o
o o o
n o [Te)
— —




RMS (ppm)

70

60

50

40

30

20

10

corr_usr_bpm4aY RMS (ppm)

-I—III|IIII| III|IIII|IIII|IIII|IIII|III

||
e e e e G

A

iﬁ%"s’?f’ﬁ%Oﬁ%oﬁ%ﬂﬂ’éoﬂoﬁﬁ%%%%%%”ﬂﬂ%%oﬂﬂ‘Wfﬁ?ﬁ%‘%s



1D pull distribution
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1D pull distribution
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